Transformations of a Function
5 Common Parent Functions:

1) Linear: f(x)=x /[/ }

2) Quadratic: f(x)= x°
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3) Absolute Value: fx)=|x '_‘5}5
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4) Square Root: f)=x ‘E:n

5) Cubic: fx)=x ?}2}
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State the equation of the parent function and describe the
transformation. Then sketch the graphs.
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10) y=x+3 11) y=(:~:+5}1
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Parent: 'E{:'J = X Parent: "Fm} =X
Transformations: Transformations:
up 3 left 5
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Try) y=x"+4 Try) y=(x-3)"-4
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Write the equation of the transformed function, f(x).
12) Absolute value: horizontal shift left 3, vertical shift up 5
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~F{:r.]:\ X+3 \ +5 +3{.1p.si&¢} +5 ( Outside)

13) Quadratic: vertical shift down 4, horizontal shift right 2
L= (X-2)"=4 -y (Outside) ~2( Znside)

14) Square Root: horizontal shift right 3, vertical shift down 2
A= J*x-3 -2 -3 (Insile) -2 Outside

15) Quadratic: Vertex at (3, -2) 5|2 Jw Rmht 3
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,F[Jk] =(X-3 )V -2 Down 2

16) Linear: vertical shift down 3: 4x) = X-3




Write the equation for the following translations of their
parent graphs.




Vertical Stretch or Shrink
y = @ Flx+h)+k
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